%lg 3 aal) 2amta a gil)

ol: Al
(2x — 3)(5x — 2)(3x + 3) (5x% + 6x — 4)(4x + 4) + 2x — 1
(4x — 1)(5x — 6)(x — 3) (5x* + 6x—2)(5x + 6) + 3 x 3x— 5
(3x* — 4x+3)(3x+ 6)— 3 x 3x— 5 x— (4= 3x)(6x + 6)(5x + 4)
(5x— 6)(2x + 4)(4x + 2) (4x — 1)(6x + 5)(x — 4)
Gx— P —dx— 4) + (x — 4)(6x + 1) (x> +2)(x+2)—x¥ —3x—5
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ot Jol

RPREN{RRPRINP A

ol

(2x — 3)(5x — 2)(3x + 3)
30x° — 27%° — 39x + 18

(4x— D(5x—6)(x—3)
20x° — 89x% + 93x — 18

(3x? — 4x+3)(3x+ 6)— 3 x 3x— 5
O + 6x% — 24x + 13

(5x — 6)(2x + 4)(4x + 2)
40x° + 52x% — 80x — 48

EEN NG BL

(5% + 6x— 4)(dx + 4) +2x — 1
20X + 44x* + 10x— 17

(5% + 6x —2)(5x+ 6) +3 x 3x— 5
25x° + 60x% + 35x — 17

x—(4—3x)(6x+ 6)(5x + 4)
90x> + 42x% — 143x — 96

(4x— 1)(6x+5)(x—4)
24x> — 82x% — 61x+ 20

(Bx— D)% —4x—4)+ (x — 4)(6x+ 1) (52 +2)(x+2) - —3x—5
3 — 7% - 31x 5+ 0% —x— 1
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